                                                                 اختبار في الضرب
	2 × 5 = ...........

4 × 3 = ...........

8 × 2 = ...........

6 × 4 = ..........

5 × 6 = ...........

4 × 10 = ..........

7 × 3 = ...........

9 × 8 = ............

7 × 5 = ............

4 × 4 = .............

7 × 7 = ..............







0× 8 = .........

1 × 8 = ......... 

2 × 8 = .........

3 × 8 = .........

4 × 8 = .........

5 × 8 = .........

6 × 8 = .........

7 × 8 = .........

8 × 8 = .........

9 × 8 = .........

10 × 8 = ........
0 × 3 = .........

1 × 3 = ......... 

2 × 3 = .........

3 × 3 = .........

4 × 3 = .........

5 × 3 = .........

6 × 3 = .........

7 × 3 = .........

8 × 3 = .........

9 × 3 = .........

10 × 3 = ........

				              
  






              2 × 6 = 4 × 3   (  ✔️    أم    ✖️  )

             3 × 8 = 4 × 6   (  ✔️    أم    ✖️  )
1 × 6 = ..........
7 × 1 = ..........
1 × 55 = .........
16 × 1 = .........
0 × 9 = .........
4 × 0 = .........
88 × 0 = ........
0 × 600 = .......












  قام أحمد بحل جدول ضرب 5 ( ×5 ) فأكمل الفراغات لإكمال حل أحمد 
5  ، 10  ،  15  ، ...... ،  25  ،  30  ،  35  ، ...... ، ...... ،  50 
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أداء الطالب :   □ممتاز    □جيد جداً    □جيد    □مقبول    □ضعيف


